Partitioning Numbers
Partition each of these numbers. Place Value for each digit.
	13
	=
	
	
	10
	and
	3

	11
	=
	
	
	
	and
	

	15
	=
	
	
	
	and
	

	24
	=
	
	
	
	and
	

	28
	=
	
	
	
	and
	

	39
	=
	
	
	
	and
	

	46
	=
	
	
	
	and
	

	57
	=
	
	
	
	and
	

	76
	=
	
	
	
	and
	

	145
	=
	
	and
	
	and
	

	257
	=
	
	and
	
	and
	

	545
	=
	
	and
	
	and
	

	739
	=
	
	and
	
	and
	

	273
	=
	
	and
	
	and
	

	1.23m
	=
	1m
	and
	20cm
	and
	3cm

	3.76m
	=
	
	and
	
	and
	

	8.97m
	=
	
	and
	
	and
	

	7.25m
	=
	
	and
	
	and
	

	4.56m
	=
	
	and
	
	and
	

	9.47m
	=
	
	and
	
	and
	


Partitioning Numbers

Partition each of these numbers.
Now try these

	£12
	=
	£10
	£2
	
	

	£27
	=
	
	
	
	

	£67
	=
	
	
	
	

	£97
	=
	
	
	
	

	£65
	=
	
	
	
	

	£18
	=
	
	
	
	

	£1.65
	=
	
	£1
	60p
	5p

	£1.89
	=
	
	
	
	

	£2.46
	=
	
	
	
	

	£2.75
	=
	
	
	
	

	£2.97
	=
	
	
	
	

	£37.68
	=
	£30
	£7
	60p
	8p

	£38.92
	=
	
	
	
	

	£42.80
	=
	
	
	
	

	£44.94
	=
	
	
	
	

	£85.64
	=
	
	
	
	

	£70.87
	=
	
	
	
	

	£65.76
	=
	
	
	
	

	£67.27
	=
	
	
	
	


